YEAR 13 PRACTICAL 7
WORKED ANSWER
a)
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b)
yield of product = 4.32 g (example)


moles of salicyclic acid = 5/138 = 0.0362


so max yield of aspirin = 0.0362 x 180 = 6.52 g


so % yield = 4.32/6.52 x 100 = 66.3%

c)
melts between 131 and 133 oC


so is fairly pure


because range narrow and close to expected melting point

d)
avoided naked flames due to flammability of ethanoic anhydride


wore gloves because phosphoric acid is corrosive and salicyclic acid an irritant

flooded affected areas after spillage because phosphoric acid is corrosive


wore goggles 
_1129275492

